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I Read the following passages and respond to the questions that follow I 
each passage. Your responses should be based on the passages. 

Question number 1 to 5 : 
"Half a century later, Indians learnt to die for their cause. In this pursuit we were greatly 

helped by the examples of martyrs from Ireland and Russia. Thus, it will be wrong to search for 
the causes thereof only within India, right ?" 

-- 
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"Of Course, Saifubhai. Whole world is interconnected." 
"Shankar, the success of any revolutionary movement is dependent on two things. First, 

how much inspiration it draws from international conditions and examples. Second, how much 
of the most revolution prone class participates in it. I have already given some examples of the 
first. The second source is that of the workers, the farmers, the people. Only those can fight the 
revolutionary battle who have nothing to lose. How can someone who is afraid of being deprived 
of Sakina's luscious lips, this bungalow and the hereditary rights over villages be a revolutionary 
fighter ? Therefore I say, only the ordinary people can be the vehicle of the revolution." 

"I too agree". 
"Fine, you are aware of the public enthusiasm. Now, see how the international conditions 

can be inspiring. The last world war evoked a lot of fire. It was fought at the instance of imperialism 
the last ditch effort to have a control over the safe markets for capital and finished goods. Germany 
wanted new colonies but the world was already divided. So, the war was necessary for grabbing 
the colonies. As a result, Germany got entangled in a war with England and France, who owned 
the colonies. It was good that Germany lost the war, however a new enemy to the kicking imperialism 
was born - Communism awakening imperialism out of its slumber. Goods should be produced for 
the happiness and prosperity, of all the mankind, not for profit. Machines are improved, industries 
proliferate, production increases and a large market is required for its sale. However, that requires 
rolling cash in the hands of the consumer. Consumers should be paid their wages adequately. If 
there is a decrease in casMow, sale of goods will decrease. Goods will pile up in godowns. There 
will be a financial depression. Production will have to be reduced. Factories will close down. 
People will lose jobs. What can they buy without money ? How will factories be run ? Communism 
says, give up the lust for profit. Think of your country and the world as a family and produce only 
what you need. Let everybody work according to his capacity. Give him the necessities of life as 
per his needs. All of this can happen if land or factories will not be individually owned. All the 
means of production should belong to one big family." 

(a) e ~ * m e m .  
(b) ;msmr?3jtpl*. 
(c) 4 ~ ~ ~ ~ .  
(1) i%8 * 'ir (a) % (c) ~=JTII m. 
(2) ik? * 'ir (b) % (c) dh m. 
(3) ik? * (a) @) % (c) d6-n m. 
(4) (a) 'ir (b) * (4 =xF. 
Consider the following statements with reference to the paragraph. 

(a) Means of production should be commonly owned. 
(b) Profit should not be a motive. 
(c) Individuals should get goods only as much as they need. 
(1) All three are correct and (a) is necessary for (c) 
(2) All three are correct and @) is necessary for (c) 
(3) All three are correct and (a) and @) are necessary for (c) 
(4) (a) and (b) are correct (c) is not 
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(a) 3 s  
(b) &Wn W y  ma. 
(c) m r w 4 l m e n i m ~ d d .  
(dl ' 5 1 m m a m m d .  
(1) (4, ('4, (4 (2) (a), (4, (4 (3) (4,  (b)! (4 (4) (a), ( 4  
According to Saifubhai, what does Communism profess ? 

(a) Give up the lust for profit. 
(b) People should be paid generous wages. 
(c) Means of production should be commonly owned. 

(d) Everyone should be made to work according to one's need. 
(1) (4, (b), ( 4  (2) (4, (4, (4 (3) (4,  (b), ( 4  (4) (a), ( 4  

(a) * 6 ~ ~ 4 m ~ w & i I .  
(b) mm-m&iI. 
(1) - (a) (2) - (b) 

(3) 333 (a) J.TTfhl (b) (4) (a) (b) rn T8 
Which of the statements given below is/are correct ? 

(a) Germany wanted "Capital and finished goods". 

(b) When Communism was born imperialism was fast asleep ? 

(1) Only (a) (2) Only ('4 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

(a) Q T I & + T I @ ~ ~ $ ~ ? ? ~ T + ~ .  

(b) ~ ~ * m d ~ ~ ~ V i i J ~ m d ~ ~ m  
*. 

?+Taf3w?*37$? 

(1) - (a) (2) - (b) 

(3) (a) 4 (b) tt;fi (4) (a) a (b) d=+M * 
As per Saifubhai : 

(a) Previously Indians were not aware how to die. 

(b) In Communism the factories may shut down for want of money however in Imperialism 
factories cannot get closed down on that count. 

Which statement is incorrect ? 

(1) Only (a) (2) only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 
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(a) ~ ~ & ~ ~ h ~ ~ d .  
(b) ~ ~ ~ m m  

Saifubhai's thinking : 

(a) Only international inspiration is essential for the success of revolutionary movements. 
(b) The rich can not be revolutionary fighters. 
( 1  (a) is right (b) is not (2) (b) is right (a) is not 
(3) Both (a) and (b) are right (4) Neither (a) nor (b) is right 

. - ~ 

m d 6 3 1 0 :  
w p ; q l w ~ ~ ~ ~ u p 1 ~ ~ j i i w q T ~ d ~ d ~ .  d d s r f t  

~ ~ ~ d * t ~ ~ * .  m ~ * m ~ n ' ; 4 1 ~ ~ m ~ ~  
4. *d?lEm%m3Tn~mai; j l*&~ai tmd~$~&* 

Question number 6 to 10 : 
In the simplest sense, evolution means the slow process of change from a simple to a more 

complex structure. Evolution assumes that all living things are inter-related. Humans are supposed 
to have developed from some simpler forms. Most of the scientists today accept the basic principle 
of evolution but they have varying views regarding how evolution has taken place or how would 
it go. The evolution of life began in the oceans. About four hundred million years ago the first 
land based creature emerged. Some of these gradually evolved into the reptiles who were later 
displaced by mammals. Mammals are warm-blooded creatures having greater capacity to learn 
from experiences than other animals and this capacity has reached to its highest development in 

WWFlTd 3 T T  /SPACE FOR ROUGH WORK 



the human species. Our closest relatives are Chimpanzee, Gorilla and Orang-utan. Similarities 
between man and other animal forms were identified by Linnaeus who grouped man, the great 
ape and monkey in a single order, primates. The three main theories of evolution are Lamarckism, 
Darvinism and Synthetic theory. Lamarck is chiefly remembered for his belief in the inheritability 
of acquired characters which is disputed. But he is credited in the history of evolutionary thought 
for recognizing and stating for the first time that evolution is a universal truth covering all forms 
of life and it is a gradual and an incessant process. The scientific propagation of the theory of 
evolution was mainly the work of Charles Darwin. He said, that human evolution occurs through 
the process of natural selection. The main points of this theory are struggle for existence, variation, 
survival of the fittest and natural selection. Darwins natural selection serves as the comer stone of 
the modern synthesis but the mutation theory, mendelian genetics and the statistics of population 
dvnamics are also very important components of its foundation. The basic postulate of the synthetic 
theory is that evolution proceeds principally as a result of the interaction between five indispensable 
processes mutation, change in the chromosome number and structure, genetic recombination, 
natural selection and reproductive isolation. This is also called Neo Darvinism. 

Most of the scientists have varying views regarding : 
(1) Certainty of evolution (2) Synthetic theory 
(3) Direction of evolution (4) Darvinism 

7. + v % m * m ~ t 4 d ?  
(1) M ~ ~ & P J T  Y- (2) x+mh f%lxra w i ~ m  
(3) m+?i$?itllqm* (4) ?m+taeit&*rn+ 
Lamark is credited for : 
(I) Inheritability of acquired characters. (2) History of evolutionary thought 
(3) Evolution is a normal process (4) All creatures are involved in evolution 

8.  **hem-Ehrs3Tr$? 
(a) ~ h o 7 ~ ~ 1 m o i t & q d m .  

(b) 3sifaheitSTd~~*~d*wm. 

(1) -(a) (2) - (b) 

(3) (a) 4 (h)* (4) (a) 4 (b) &-&3 * 
Wliich of the following statements is correct ? 

(a) Warm blooded animals are the most experienced. 

(b) Evolution takes it for granted that all living beings live together. 

(1) Only (4 (2) Only (b) 
(3) (a) and (b) both (4) Neither (a) nor (b) 

pp-ppp-p -- 
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9. **hem&&? 
( a )  m,*q-*qwm~d~&td. 
(b) * , m ~ ~ m - & ? t m ~ ~ .  
(1) - (a) (2) - (b) 

(3) (a) q (b) tf;F?I (4) (a) (b) 
Which of the following statements is incorrect ? 

(a)  The Chimpanzee, Gorilla and Orangutan have no less capacity to learn from experiences 
than that in man. 

(b) Lamarck, Darvin and Linnaeus proposed the theory of evolution. 
(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

lo .  ma@*kem*as$? 
(a) TVT? & ~ : 3  RFI M. 
(b) 3Fjf;iTm Md* *. 
(1) - (dl (2) -(b) 

(3) tf;F?I (a) (b) (4) q(a)*?(b) 
Which of the following statements is correct ? 
(a) Man acquired his position only after struggling with others 
(b) In evolution the nature is supreme. 
(1) Only(a) (2) Only (b) 
(3) (a) and (b) both (41 Neither (a) nor (b) 

TPlTf ld  TT /SPACE FOR ROUGH WORK 



Question number 11 to 15 : 
The Earth's genes, species and ecosystems are the products of over 300 million years of 

evolution, and are the basis for the survival of our own species. Biological diversity is invaluable 
because future practical values are unpredictable. Genetic diversity, which provides the variability 
to enable species to adapt to changing conditions is important to all species. In addition genetic 
variability in cultivated and domesticated species has become a significant socio-economic resource. 
Without the genetic variability the new varieties cannot be developed moreover the global food 
production would have been far less than it is at present and far less adaptable to the future 
environmental changes. 

Biological resources including genetic resources organisms or parts of organisms, populations 
or any other biotic component of any ecosystem with actual or potential use to humanity are 
renewable, and with proper management can certainly support human needs. These resources 
and the diversity of the systems which support them, are therefore the essential foundation of 
sustainable development. 

The available evidence indicates that human activities are eroding biological resources and 
greatly reducing the planet's biodiversity. Estimating precise rate of loss, or adjudging the current 
status of species is challenging. As there is no systematic monitoring system in place and much of 
the baseline information is lacking the situation is serious especially in the species rich equatorial 
region. 

The loss of biodiversity is due to economic factors, especially the low values given to biodiversity 
and to the ecological functions such as watershed protection, nutrient cling, pollution control, soil 
formation, photosynthesis and evolution upon which human welfare depends. Therefore, virtually 
all sectors of human society have interest in the conservation of biodiversity and the sustainable 
use of biological resources. However, no single sector can by-itself, ensure that biological resources 
are managed to provide sustainable supplies of products, rather, co-operation is required between 
the various sectors, ranging from research to tourism. 

- 
(a) + + T ~ ~ w - ~ M w & .  
(b) 3bii Tmr* T m h  JTfi* $Y%m +* *. 
(1) - (a) (2) - (b) (3) (a) - (b) (4) (a) $ @) +im m3.a 
Which of the following two statemnets is correct ? 

(a) For maintaining biodiversity an intergrated approach is required. 
(b) In conserving biological resources no economic angle is involved. 
(1) Only (a) (2) Only (b) (3) Both (a) and (b) (4) Neither (a) nor @) 
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(3) (4 (b) m (4) (a) 3 (b) M rn 
Which of the following two statements is correct ? 

(a) There is abundance of life forms in the equatorial region. 

(b) No monitoring whatsoever of biolo~cal  resources is being done, 

(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

-- ~ .. ~-~ .-.. . . ~  .. ~ . .  ~ 

13. @ V h f i ~ d ' J d 3 R k & ?  

(a) ~ e r m ? % t a m 3 ~ w f t f % m ~ . m $ .  

(b) * . f m r e r . r m r m ~ ~ ~ / ~ ~ d  

Which of the following two statements is incorrect ? 

(a) Our value system of the various entities is definitely incorrect. 

(b) Sustainable development of biological resources ensures human welfare. 

(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

14. @ @ $ 7 f i W & + ? d ' d 3 V & W & ~  

(a) ~ f % d ~ w & .  
(b) r n * ~ s l ~ . n d ; r r r n ~ .  

(1) l+%+i (a) (2) QZm (b) 

(3) (a) q (b) +$ (4) 7 (a) - 3 (b) 

Which of the following two statements is incorrect ? 

(a) Man is nauhe's enemy. 

(b) Biological resources satisfy human needs. 

(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

p~ ~ - - ~  -~ ~~ ~ - ~. ~ .~ ~ --- 
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15. ~ f i r ~ ~ ~ 4 T $ ?  
(a) M m d m - h d ~ 8 d .  
(b) 3q$hmemr+5Fam-fmrdrfjnmtrm&. 

(1) t- (a) (2) * (b) 

(3) (a) (b) 34 (4) 3 6) -rifrq 7 (b) 
Which of the following statements is correct ? 

(a) Without evolution there would not have been so much food production 

(b) Genetic variability rarely supports adaptations. 

(1) Only (a) (2) Only (b) 
(3) (a) and (b) both (4) Neither (a) nor (b) 

Question number 16 to 20 : 
A three level Laser, the simplest kind, uses an assembly of atoms (molecules) that have a 

metastable state, some energy above the ground state and still a higher excited state that decays to 
the metastable state. More atoms are required in the metastable state than in the ground state. If 
the same is arranged and light of particular frequency is made to shine on the assembly, there will 
be more induced emission from atoms in the metastable state than induced absorption by atoms in 
the ground state. The result will be amplification of orignal light. This concept constitutes the 
principle of operation of laser. The term population inversion describes on assembly of atoms in 
which the majority are in energy levels above the ground state; normally, the ground state is 
occupied to the greatest extent. Optical pumping is one of the common techniques to produce a 
population inversion. In a three level laser, more than half the atoms must be in the metaslable 
state for induced emission to predominate. This is not the case for a four level laser. In the same 
way the laser transition from metastable state ends at an unstable intermediate state rather than a 
ground state. Because the intermediate state decays rapidly to the ground state, very few atoms 
are in the intermediate state. Hence even a modest amount of pumping is enough to populate the 
metastable state. 
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111 a three level laser, the metastable state is situated : 

(1) below ground state (2) above excited state 
(3) in between rxclted and ground state (4) exactly at grourld st'ite 

17. $vn~*'V%?&nsroi~ q ' d 3 t m W + d :  

(1) q:m h (2) M * 
(3) 6&h * (4) V$19 m k 5  (1) * (2) 
Lesser ammnt of pumping is required in : 

(1) four level laser (2) three level laser 
(3) two level laser (4) both (1) and (2) require equal rumping 

b r i n g  lasing act~cn of a four level laser transition from metastable state ends at : 

(1) Higher excited state 
(2) ground state 

(3) Intermediate state between metastable and ground state 
(4) None of the above 

19. . 

(1) 50% &TbR f@kfh W+kTR. 

2 )  5 0 % a ~ + ~ t q m ~ m .  

(3) 50% $w[ jma q X ~ ~ W T  %&I WXTKf. 

(4) :m f@Td f& h. 
For induced emissioii in a three level laser : 

(1) 50% of atoms should be in metastable state. 

(2) < (less than) 50%, of atoms shoilld be in metastable state 

(3) > (more thanj 50% of atoms should he in metastable state 

(4) metastable state m ~ ~ s t  be vacant 
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During population inversion in three stale laser : 

(1) Metastable state is most populated. 

(2) ground state is most populated 

(3) Both metastable and ground state are equally populated 
(4) None of the above 

Question number 21 to 23 : 
There are several products of genetic engineering now available in the market viz. interferon, 

human growth hormone and human insulin. In 1982, humar, insulin produccd by rocombinant 
bacteria was released for sale in the market. All of these proteins were previously purified from 
animal tissues. But human forms were available only in very minute quantities. 

Before 1982, all insulins which were utilized for diabetics were purified on!v from bovine of 
cattle and Porcine of pigs pancreas. These insulins were made available as by-products of meat 
industry. The insulin supply was, thus a function of supply and demand in the meat market. The 
commercial production of human insulin in recombinan E. Coli cells eliminated concerns regarding 
possible shortage of insulin in the future. In addition, this human insulin, was of particular 
importance io some diabetics who were allergic to bovine and/or porcine insulin. 

Recombinant DNA techniques play an essential role in gene therapy which involves the 
direct manipulation of genetic material. 
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21. $c&.m$m3mqm: 
(1) *sTfkEm?jlllfnl&4 (2) * s T f m  

(3) - * (4) - mq* 

Suggest appropriate title to the paragraph : 

(1) Genetic Engineering and Medicines (2) Genetic Engineering 

(3) Human insulin (4) Insulin and Diabetics 

(a) W M h  1982 T&d 3WW TTti. 

(b) ~ * m ~ w 3 i 9 m v l - m d .  

(3) (a) (b) +73 (4) (a) (b) M-8  * 
Consider the following two statements : 

(a) Human insulin was not available until 1982. 

(b) Insulin until then was the major product of meat industry. 

Now state which of the two above statements is correct ? 

(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

(a) + w m M - % f ; e m ? d d ~ & .  

Which of the following two statements is correct ? 

(a) Insulin obtained as a product of meat industry could not have been in short supply. 

(b) Human insulin from recombinant E.Coli cells is important only because it is useful for 
some particular diabetics. 

(1) Only (a) (2) Only (b) 
(3) (a) and (b) both (4) Neither (a) nor (b) 
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Question number 24 to 27 : 

Chemistry is all around you. The air you breathe, the food you eat, the clothes you wear, 
chemistry touches virtually every aspect of our lives. More than any other science, it has transformed 
the world in which we live, bringing us abundant fooci, better health, stronger materials, softer 
fabrics, brighter colors, cleaner homes, safer transport, greater energy efficiency etc. Our body is a 
complex mixture of cliemical substances (65% mass is due to the chemical compound, water) and 
we are kept alive by chemical reactions taking place in our cells. As a society, we use chemicals as 
medicines when we are sick, whether we use 'natural remedies or pharmaceutical products, 
chemical reactions keep us warm, cook our food and power our transport. But chemistry also has 
its darker side and that has k e n  in discovering and developing substances which are potentially 
harn~ful. Bioterriorism and chemical war a rp  curses of the advances in science. Toxicology is a 
science which studies all such materials which become a threat to the mankind. Now a days, it is 
almost impossible for an ordinary person to obtain toxic chemicals, and it is almost impossible for 
a poisoner to escape detection after the use. Poison is a weapon which is usable bothways and bj 
those who wish to kill, 111ay do SO in S U C ~  a way that the victim is unaware of it. Such deaths are 

sometimes shown as natural deaths. 
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24. $ k 3 & i i h W i ? d 5 h ? i ~ ~ ?  
(a) m d h ~  &. 
(b) Twmm&lm * 3Tsms 
(1) - (a) (2) (b) 

(3) (a) 3nfin (b) = (4) (a) * (b) 4=6M 33 
Which of the following two statements is correct ? 
(a) Chemistry is the superior most science. 
(b) There can be no life without Chemistry. 
(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

- - 

25. $kihW&?f--%bUW$? 
(a) d d m e * r i g a m # .  
(b) Tfm%mm*-*qsi lm+.  
(1)  (a) (2) * ( 4  (3) (a) (b) * (4) (a) 4 (b) rn @ 
Which of the following statements is incorrect ? 

(a) The chemical reactions in a human body come to an end after death. 
(b) Chemistry should look for a medicinelcure for Bioterrorism. 
(1) Only (a) (2) Only (b) (3) Both (a) and @) (4) Neither (a) nor (b) 

.- -- 
26. * f 6 ' m * h & ?  

(a) f%% stjrleii % s t j r l + ' t ~ / M ~  &em; J-TTlit. 
(b) w r m s l r n ~ ~ = + 3 t ~ m ~ .  

(1) (a) (2) * (b) 

(3) +??(a) * (b) (4) (a) 3nfin (b) rn 3-8 
Which of the following statements is correct ? 

(a) Man made medicines are more useful than the natural rnedicines/remedies. 
(b) The harmful effects of chemistry are controlled by the helpful chemicals. 
(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

What is the central theme of toxicology ? 
(1) Studv of pisonous materials 
(2) stud; of adverse effect of chemicals 
(3) Study of therapeutic effects of chemicals 
(4) Study of both therapeutic and adverse effects of chemicals. 
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Question number 28 to 32 : 

In studying the Indian Constitution and the process of nation-builcling a fundamental principle 
of diversity is noted time and again. As per this principle the different regions and linguistic 
groups can protect and conserve their own culture. We had decided to live a united social life 
without losing the distinctiveness of the numerous cultures that constituted India. Indian 
nationalism has sought to balance the principles of unity and diversity. The nation does not mean 
negation of a region. In this sense the Indian approach was different from that adopted in some 
European countries where they saw cultural diversity as a threat to the nation. 

India adopted a democratic approach to the question of diversity. Democracy allows the 
political expression of regional aspirations and does not look upon them as anti - national or anti - 
democratic. Besides, democratic politics allows parties and groups to represent the people on the 
basis of their regional identity, aspirations and specific regional problems. 'Thus, in the course of 
democratic politics, regional aspirations get strengthened. At the same time, democratic politics 
also means that regional issues and problems will receive adequate attention and accommodation 
in the policy making process. 

Such an arrangement may sometimes lead to tensions and problems. 5ometirnrs, ill? concern 
for national unity may oversha~low the regional needs and aspirations. At other trines a concern 
for region alone may blind us to the larger needs of the nation. In the countries where national 
integration is given top priority political conflicts over the issues of powers of the regions, their 
rights and their existence often crop up. 

After independence oilr nation had to cope with many difficult issues like partition, 
displacement, integration of princely states, reorganisation of states and so on. Many observers, 
both within the country and from outside, had predicted that India as one unified country cannot 
last long. Soon after independence the issue of Jammu and Kashmir came up. It was not only a 
conflict between India and Pakistan. The question of the politirill aspirations of the people of 
Kashmir valley was associated with it. Similarly, in some parts of north east, there \\.as no consensus 
about being a part of India. First Nagaland and then Mizoram witnessed strong movements 
demanding separation from India. In the South, some groups from the Dravid movement briefly 
toyed with the idea ot a separate country. 

These events were followed by mass agitation in many parts for the formation of linguistic 
states. Today's Andhra Pradesh, Karnataka, Maharashtra and Gujrat were among the regions 
affected by these agitations. In some parts of Southern [ndia, particularly Tamil Nadu, there were 
protests against making Hindi the official national lanbwage of the country. In the north there 
were strong pro - Hindi agitations demanding that Hindi be made the official language immediately. 

From the late 1950's people speaking Punjabi language started agitating for a separate state for 
themselves. The demand was finallv accepted and the Punjab and I-Iariyana states were created in 
1966. Later, the states of Chhattisgarh, Jharkhand a Uttarachal (now Uttarakhand) were created. 
Thus the challenges of diversity were met with by redrawing boundaries of the states. 
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28. P+Rl%?Rdg;Tia?T+%bkTIWh7%?Fjt? 

(1) m F4rth (2) * * q m  
(3) 6b.h T l w i h  d m  (4) - 
After independence the reorganisation of states was primarily done on the basis of : 

(1) Cultural independence/values (2) Regional matters and problems 
(3) Regional political ambitions (4) Regional languages 

(a) W ~ ~ + W + T I ~ T F ~ ~ ~ ~ ~ ~ ~ ~ T ? .  
(b) ~ a ~ s e ; t m f $ ; r m ; r m ~ w m ~ ~ ~ ~ m ~ $ r t n .  

Which of the following statements is correct ? 

(a) All the observers thought that India will not be able remain as one unified country. 
(b) In Jammu and Kashrnir the problem of regional aspirations of the people was bigger 

than that of India - Pakistan conflict. 

(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

(a) ~ h h d & & ~ ~ @ ~ m .  
@) omma**mjrr?it. 

Which of the following statements is correct ? 

(a) In India the various states can protect and conserve their cultures. 
(b) In India regional chauvinistic tendencies are opposed. 
(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

(1) -m=mm- (2) F h v 6 - m  
(3) m m m m  (4) e m *  
How India faced the challenges of diversity ? 
(1) Creating awareness about Integration 
(2) Accepting the democratic view 
(3) Accepting the demands of the people 
(4) None of the above 

W /SPACE FOR ROUGH WORK 

P.T.O. 



(a) O m r n a ~ d r n e T r n & v Q m ? f % ~ * $ v &  

(b) m+$?rfaui*rnem~eif;fi[m&. 

Which of the following statements is incorrect ? 

(a) In India national integrity is accorded priority but the regional diversities are not 
overlooked. 

(b) In the other countries cultural diversities are considered a threat to the National Integrity. 

(1) Only (a) (2) Only (b) 
(3) Both (a) and (b) (4) Neither (a) nor (b) 

d ;iimr /SPACE FOR ROUGH WORK 



Question number 33 to 37 : 

The roots of superstition lie in ignorance. If we want to get rid of this menace it will be 
of no use to blame, ridicule or brand superstitious ignorant. It will only demoralise them. We will 
have to tell them skilfully in a restrained manner how the superstition takes roots, in which 
conditions it grows. Through clever and tactful discussions we have to convince them that 
superstitions if not restrained will bring only misery and disaster, and that therefore we should get 
rid of it. The task needs consistent efforts and should be carried on with determination and 
perseverance until such a person does not lose his faith in the superstitions and turns around. 
Superstitions can be eradicated with the help of rational principles and practical thinking. 
Legislation will obviously make the efforts stronger. An ordinance has been issued by the 
Government. It is expected that it will be passed in the coming session. 

We live in the age of science. We make use of the most advanced equipments and 
discuss in the IT age. But in our personal lives we have not become rational yet. Even when 
science is giving usinswcrs to questions regartling all lunds of happenings fro111 the most common 
illness t2 untimcl\, rains, i t  is difficult to romprehmd, why people are still persisting with unscientific 
answers to the Therefore thoughwe have pro@ssed materialiy our m&tal development 
has not kept pace with it. 

It is a scientific truth that, the universe has evolved from five elements called as 'Pancha 
mahabhuta' but some have managed to create myths about it giving it a ritualistic nature. 

The resources developed by science and technology are being discreetly as well as blatantly 
used for spreading superstitions and rituals. The computers are being used to tell the people what 
will happen in the future. Had there not been advanced scientific resources like telegrams, 
telephones, lax, e-mail how would the Ganesh idols all over the world have milk on the same day. 
We should ask this pertinent question to ourselves. These persons who claim that they are so 
powerful and blessed that they can have a direct dialogue with the God, why should they need 
such trivial things like mobile and internet ? 

- - 

33. *af$mKme;tmTw3imm3mR- 
(a) m ~ m j T f e m ; n ~ ~ % .  

(b) rni=m?mf%wmflrnem%&. 

(c) ~ m * r n * .  
(d) m4+i*yRIm%. 

(1) (a) * (c) (2) (b) mf@l (a) (3) (c) * (4 (4) * 
If man is able to make a proper choice between Ritualism and Rationalism - 

(a) he will be able to make use of science in a more effective manner. 

(b) he can attain his psychological and mental development. 

(c) he will be able to understand the situation better. 

(d) he can make his life trouble free. 

(1) (a) and (c) (2)  (b) and (a) (3) (c) and (d) (4) All of the above 
---- 

haell mmrrndt T P l l  /SPACE FOR ROUGH WORK 
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34. Ji~rnf..i&rn*&rn. 
(a) Sh-mJmriiW&m?I&&. 
(b) ~ r n f + w r u w $ ~ ~ ~ w m m a h ? ~ ~ ~  
(c) & @ ~ V T G F ~ I ~ W K T B ~ ~ &  

(d) m ~ s i ~ m ~ * w ~ * .  
(1) (b) (2) (dl (3) (4 (4) (a) 

Eradication of superstition is a difficult task because : 

(a) People are addicted to it and they are ignorant. 
(b) People have faith in it and an attempt to divert them from it will demoralise them. 
(c) ILS roots have gone deep in the life of common man. 
(d) The line between superstition and faith is very thin. 

(1) (b) (2) (d) (3) (c) (4) (a) 
- ~. . - -. .- -. - -- ~ ~ - .~~ 

35. 3i~%$$rnei&6r~mm ? 

(a) ~ ~ $ 4 m & ~ ~ 1 * k r l f . ( o l l q d .  

(b) &hdmmmM.  
(c) m m+ mm md siPrm M. 
('I) %rFm m 3ww ?Jlmwi JiWLih? *+. 

(1) ('1) (2) (b) (3) (c) (4) (d! 

When can disasters occur due to superstitions ? 

(a) When they affect the mental state of the igl~orant and illiterate. 

(b) As the faith of the superstitious people grows day after day. 

(c) Supersiitions drr  followed despite the availability of developed resources. 

(d) Dependency on superstitions though scientific reasoning says otherwise. 

(1) (a) (2) (b) (3) (4 (4) (4 
~ ~ ~~ --- 

36. 41?f~~~-13flrlFjiYdmd. 3Tmnl : 

(a) 3i~m-m. (b) ~ ~ ~ * ~ .  
(c) f t w m ~ ~ m k ~ .  (d) *& *. 
(1) (a) (2) (c) (3) (4 (4, Co) 
\Ye have not developed mentally. \Ye should : 

(a) bury superstitions. (b) Popularise science. 

(c) Spread education. (d) None ot the above. 

(1) (a) (2) (4 (3) (dl (1) (b) 
~ ~ 
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37. ~ * ~ m ~ ~ g l r j ~ m -  

(a) *3mwgti/m**. 
(b) ~ ~ ~ ~ r n f % m ; I T m ' i l ~ ~ ~ 3 & & .  
(c) ~ ~ m ~ d m * .  
(d) ~ ~ ~ ~ 3 n $ .  

(1) (c) ( 2 )  (4 (3) (a) (4) (b) 
Society at large still makes use of unscientific methods to solve problems because : 

(a) Scientific knowledge acquired is not yet progressive. 

(b) It does not have answers to it anywhere else and ritualism gives the answers 

(c) Man's mental state is not yet ready. 

(d) Critical attitude of people has not yet developed. 
(1) (c) ( 2 )  (4 (3) (a) (4) (b) 

P.T.O. 



38. TiEhthhWTh?$P'dh37l$? 

( a )  WFRT Htt:i;rr ~ B T 6 i t  W5WTl ~d 

(b) ~ ~ i f J T ? ~ m ~ .  

(1) 'ma ( a )  (2) V;tfi[ (b! 

(3) (a )  4 (b) $d (4) ( a )  3 (17) 3=6% Ttib 
~. , . - ~~  ~ ~. ~~ ~~ ~ - 

39. d m @ r 4 ~ r n * ~ * * .  

( a )  %* mm (b) ~r$--+ft ;r WDJW~ 

(c) ~ ~ * f i i i r n ~  (d) 3 i ; h d h - m  

(1) !a) * (c) * ( 2 )  (b) m (d) *< 
(3) Tim (4 * (3j (d) * 

~. 

40. @k7~fbW#&&6l3TzhrVW$? 

( a )  s r f ~  mm. 
(bj W J R d ~ ~ ~ ~ l m $ b d .  

(1) ( 2 )  (2) Wi.3 (b) 

(3) ( a )  (b) (4) ( a )  4 (b) m a  * 
--p-p...--- - .-- 

41. 33%'%3T?IbVl7l&$f*ka&3*1 

( a )  h M ;mmd. 

(b) ~ ~ ~ ~ ~ , 3 T d m .  
(1) - (4 ( 2 )  m (bj 

(3) (a) 4 (b) ( 4 )  ( a )  4 (b) -ir??r;ii ;m?ir 
-- - .- -- 

42. m+i?.ilm+a*d? 
(a) v*mkmd. 
(h) % f % 7 T J g T f ~ . m ~ ~ , ~ ~ ~ * ?  

il) wa ( a )  (3:) %m (b) 

(3) ( 2 )  4 @) +8 (4) ( a )  ~4 (b) TG~ 
~ ~ ~ 
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Question number 43 to 47 : 
What is life ? One of our greatest difficulties in answering a question like this arises from 

language. We use words, and are inclined to think that a thing must correspond to every noun. 
Now some nouns stand for things; for example, bricks, water and coal - gas are things. Others are 
more doubtful. For example, a wave moves over the sea. We say that it is the same wave now as 
five minutes ago, but the particles of water in it are quite different. A tune has even less claim to be 
called a thing. It may be being played in several places at once, or nowhere. And some nouns like 
greenness or cleverness stand for qualities which no one, except a few philosophers, suppose to 
have any existence of their own. 

Where does life belong in a classification of this kind ? When a man dies, we may say that he 
has lost his life, or that life has gone out of him. Is that just a metaphor ? Is death the loss of 
something, or merely a change of state, as when a snowman melts, or a pattern is disarranged ? 
The first people of whose ideas on this subject we know anything thought that life was the same as 
breath. But we know that breath consists of gas, which can be made into a solid or liquid, and also 
that many living things do not breathe. Llfe is certainly not a kind of matter. When a man or an 
animal dies he does not lose or gain in weight. Nor is there any measurable loss of energy. The 
heat gradually leaves the body, but is doing so throughout life. A dead body cools because no 
more heat is being generated inside it, not because anything measurable leaves it at the moment of 
death. 

Our ancestors thought that anything which moved itself was alive. And before the days of 
machinery that was quite a good definition. Rut a machine such as a motor - car or a steamship 
moves itself, and as soon as machines which moved themselves had been made, people asked, "Is 
man a machine ?" the philosopher Descartesthought that both men and animals were machines, 
but that the human machine was partly controlled by the soul acting on a certain part of the brain, 
while animals had no souls. And some scientists think that life is just a very complicated mechanism. 

43. Choose the correct option. 
According to Descartes, 

(a) both men and animals are machines. 

(b) only human beings have brains, while animals have no brains. 

(c) only human beings have souls, while animals have no souls. 

(d) life is just a complicated mechanism. 

(1) Only (a) and (b) (2) Only (a) and (4  
(3) Only (a) and (d) (4) All four 

44. Choose the correct option : 
A 'wave' is a doubtiul noun because ... 
(1) it moves over the sea. (2) it is the same as five minutes ago. 
(3) the particles of water have changed. (4) All the above thee. 

45. Choose the correct option. 
Life is NOT a kind of matter because death does NOT lead to : 
(a) loss in weight @) gain in weight (c) measurable loss of energy 
(1) Only (a) and @) (2) Only @) and ( 4  
(3) Only (a) and (c) (4) (41 (b) and ( 4  

?E%l& 3TW /SPACE FOR ROUGH WORK 
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46. Choose the correct option. 
The writer is sure that ... 
(a) death is a change of state. (b) death is a disarrangement of pattern. 
(c) life is not matter. (d) breath consists of gas. 
(1) Only (a) and (b) (2) Only (c) and (d) (3) Only (d) (4) All four 

. ..pppp 

47. Choose the correct option. 
The statement closest to the central theme of the passage is : 

(a) Language creates problems about understanding life. 
(b) Human beings are different from animals. 

(c) People have different opinions about what life is. 
(d) Human beings are machines. 
(1) Only (4 (2) Only (b) (3) Only (c) (4) Only (4 

~ 

Question number 48 to 50 : 
Modern psychology teaches everyone to chalk out clear-cut goals and achieving them 

in the shortest duration. Psychologists, motivational experts and behavioural scientists are forever 
busy researching on easy and quick paths to Self-realisation. Fast, clear and smooth is the new 
mantra. But does it work in the longer run ? Not really. People go through this achievement exercise, 
find it exciting for some time and then one fine day become disillusioned. 

A client shared that as a child he was told that everything will be tine II he got good marks. 
As he finished his post-graduation, he believed the socially accepted fantasy that everything will 
be fine if he got a well-paid job. Then he had similar hopes - from salary hikes, success, marriage, 
fatherhood, lavish partying, to practising relaxation techniques, buying a fancy car and owning a 
luxury apartment. He reported that at each stage of achieving something he felt on top of the 
world, but only for a short while. 

Soon, he felt empty and then he chalked another goal thinking that maybe this time he will 
stay happy for a longer duration. But nothing worked. Now for the last two years, he was struggling 
with the question 'who am i ?' People thought that he was depressed and he should distract 
himself from this futile philosophical question. Ironically, he was advised by many to chalk out yet 
another goal to get over this psychological crisis or take pills to feel happy. 

While 'who am i ?' appears to be a futile question, it is the door to the greatest good. All of us 
are born with a true Self that has unique potential; we can realise it if we hear our inner voice. 
However, we are taught right from day one what is socially valued and what is not. If we follow 
what is socially accepted, we get love and recognition; other-wise, criticism and rejection await us. 
As a result, we start doing what the world expects from us-money, fame, lavish lifestyle, designer 
body, umpteen possessions, pleasure and clear-cut goals. Thus, the question 'who am i ?' is 
deliberately suppressed. 

This question, if pursued, may get you what you have been searching for all along. Therefore, 
once you reach a point where you have surety that you can execute vour worldly duties, it is time 
to turn inward. Stop asking people what you should be doing. Do not trust psychological tests that 
claim to tell you what is good for you. There are no standard answers. Each person has to find his 
own answer. The real psychology lies in discovering and realising who you are. 

Who am I ? Think about this question; let it trouble you. Let it shake you up. Let it make you 
uncertain about your identity. If others try to pull you back into mainstream dramas, refuse politely 
and persist. Often, others distract you because they find this question scary and want to forget it. 
In my experience as a psychologist, I often find that the unknown zone looks scary in the beginning 
but if you stay on and explore, you will be in for a surprise. 
- 

3lT /SPACE FOR ROUGH WORK 



Once you break away from social conditioning in your mind, you will get a taste of real 
freedom. You will gradually become what you are and not what people want you to be. You will 
experience happiness and contentment. 

48. Hardcore psychologist want you to : 

(1) Chalk out clearcut goals. (2) Achieve goals in shortest possible time 

(3) Find easy and quick paths. (4) Understand oneself. 

49. Initially you must : 

( I )  Decide upon the easy and quick paths. 

(2) Start asking yourself "Who am I ?" 

(3) Perform ordinary duties. 

(4) Attain self realisation. 

50. Give an appropriate title to this passage. 

(1) Reasons for disillusionments. (2) Attaining goals one after the other. 

(3) Chalking out our goals. (4) Psychological behaviour. 
-~ -- - - 

5 1 .  f + - r ~ - + i ~ ~ ; f ; ~ ~ .  
2 6 5 9 8 * P T E 5 I Z = > W Y # Q 6 Q f V 4 k N O G 3 $ D  

7 ~ 1 ~ 3 ~ ~ ~ m ~ 7 m w g ~ T m ; i t ~ m r ; r q ~ 7 2 3 i ~ ~ .  prm 

=i..nrurmrqmsdmm. 

(a) 265  (b) 9 * P (c) 8 E T  (d) TQW (e) 5 = R 

m*: 
(1) (b) (2) (4 (3) (dl (4) (ei 

A series with symbols-letters-numbers is p e n .  

2 6 S 9 8 * P T E 5 R = > W Y # Q 6 Q f V 4 k N O G 3 $ D  

The four groups out of following five groups, derived from the given series are same in some 
way and form a group. One does not fit in the group. Select the alternative of the group 
which does not fit in the group. 

(a) 2 6 5  (b) 9 * P (c) 8 E T  (d) TQW (e) 5 = R  

Answer options : 

(1) (b) (2) (c) (3) (4 (4) (4 
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52. @ , $ , % , 0 m f + I * m $ m i a r w i h ~ m r 4 w m i m k n ~ .  
POQT ad  mi?, P , Q ~ W I ~ ~ .  

~ * Q ~ ~ e f ~ , ~ , ~ ~ @ T l ' h ~ f % T l ~ ~ .  

P $ Q T ~ ~ T ~ + , P , Q % ~ ' ~ M .  

~ % ~ m s ~ d m i ? , ~ , ~ % w T I ~ $ t m f + I m m M .  
P @ Q ~  34  + , ~ , ~ % w m ~ f k r m M .  

ms - s rWmanf3~4rn~mWf6333Tm.  f 3 w d a m - r h r 4 d i t ~ .  
f a d :  
F%I ; I@B ; BOM ; M$K 
w: 
(1) K % B  (11) KQB (111) M*F (IV) B*F 
W d :  
(1) Vm (I) 4 (111) m ( 2 )  - (1) 3 (11) 

(3) (I), (111) 4 (IV) m (4) ma (11) 4 (111) m 
The symbols @, $, %, 0, and * are used as follows : 
POQ means, P, is not less than Q. 
PfQ means, P, is not greater than Q or not equal to Q. 
P$Q means, P, is not greater than Q. 
P%Q means, I', is not greater than Q and not less than Q. 
PQQ means, P, is not less than Q or not equal to Q. 
On the hasis of this, four statements and four inferences derived from them are p e n .  Select 
the colTect alternative about the inferences. 
Statements : 
F%I ; I@B ; BOM ; M$K 
Inferences : 
(1) K%B (11) K 8 B  (111) M*F (IV) B*F 
Answer options : 
(1) Only (I) and (111) are correct (2) Only (I) and (11) are correct 
(3) Only (I) (111) and (IV) are correct (4) Only (11) and (111) are correct 

53. T i 5 3 7 ~ 7 3 % r n & .  m m & ~ i i 4 i ~ m w * .  a m ~ f a w J i i . 4 t r s  
ssfs m. 
M T P A H B N W L F C R O K E U Z S V Q  
PZH; WOB; ? ; SIVC. 

(1) OLZ. (2) OFW (3) RLW (4) KFL 

A set of letters is given. A series of groups of letters, on the basis of it, is given. Select the 
proper option in place of question mark. 
M T P A H B N W L F C R O K E U Z S V Q  
PZH; WOB; ? ; SWC. 
(1) OLL (2) OFW (3) RLW (4) KFL 

d TlT /SPACE FOR ROUGH WORK 
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Some codes and conditions are given as follows : 

aw 
dg 

I ~ e t t e r s J  B J M J K J A I T J R J E J U J N I H J F J  I J W J D J P  
Code ) 7 1 % ) 5 ) @ 1 6 1 9 ) 8 ) 2 ) @ / 1 1 # 1 $ / 3 1 * / 4  

B M K A T R E U N H F I W D P  

7 % 5 @ 6 9 8 2 @ 1 # $ 3 * 4  

Conditions - 

33.3: 

(i) x ~ a e r r m J T T f b l ~ a w ~ ~ m ~ m = n ~ ? ~ m d ~ .  

(ii) x ~ a e ~ ~ ~ J n f o T h d a m m & a x d ~ m ~ & a .  

(iq ;?~TE$~TI~~JIW, ~ & ~ ~ v ? ~ ~ ~ & R , ~ ~ w ~ M ~  
= m d  *. 

*d&klwrn. fiFfF47am*m*fiasr. 

3T@7 w: RNWDEF 
(1) 903*8# (2) #Q3*8# (3) #@3*89 (4) #3*@8# 

(i) If the first letter is a vowel and the last letter is a consonant, then both should be coded 

by the code of the vowel. 

(ii) If the first letter is a consonant and the last letter is a vowel, then their codes are to be 

interchanged. 

(iii) If the first and the last both the letters are consonants, then both are to be coded by the 

code of the last letter. 

On the basis of above information, select an alternative of the coded form of the given group 

of letters. 

Group of letters : RNWDEF 

--- 

& jrmr /SPACE FOR ROUGH WORK 
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(i) ' A o B ' ~ T ~ T ~ W $ , A T B ~ W V F T T $ ? % ~ ~ .  

(ii) ' A = B ' ~ J I ~ ~ ~ ~ + , A R B ~ w ~ M ~ ~ B W T ~  

(in) 'AQB' 3 34 &, A 'FIB dm %l&. 

(m) ' A * B ' x ; ~ ~ & ,  A ~ B ~ G T $ % B ~ W + ~ ~  

(v) ' A @ B ' J I J I ~ ~ $ , A A B ~ w ~ & .  

d ; m % e n ? s m ~ ~ & ~ ~ ~ m & .  f%v3mwp,~mmmm 
f%%dma**fi.m. 

m: 
POT, TOY; YtB; B = U. 

f+wd: (I) T=B 

(11) YOD 

(I) rnM(1)*4 (2) m m (11) &m &. 

(3j M (I) GXI (11) T+R W$ (4) M (I) .KlfnT (11) * 7r&r 

In the following question, @, 0, =, t and rii: have been glven the meanings as follows : 

(i) 'AGB' means, A, is not less than or greater than B 

(ii) 'A =B' means, A, is not less than B or not equal to 8. 

(iii) 'ABB' means, A, is not greater than B. 

(iv) 'AtB' means, A is equal to B or A  is greater than B. 

(v) 'A :+ 8' means, A is less than B, 

Ilere four statements and two inferences derived from them, are given. Considering the 
statements true, select the proper alternative about inferences, which is/are exactly correct. 

Statements : 

POT; T8Y; YtB; B = D. 

Inferences : (I) T =  B 

(11) Y B D  

(1) Only inference (L) is correct ( 2 )  Only inference (11) is correct 

(3) Inference (I) or (11) is correct (4) Inferences (I) and (11) both art. not correct 

-- - 
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Some mathematical symbols are represented in a new notation by letters as shown in the 
following table. 

Choose the correct expression from the following alternatives. 

(1) 27G25A7E72C4E16D4 (2) 33B17E8A24C6E3D4 

(3) 64C4F19E9A9C3E6D2 (4) 16F4D3A2E8C2E2 

DFG ; FH12 ; HJ2K2; -2 - , N2P3Q3. 

(1) JzLzM, ; LzNzO, (2 )  JzK,M2 ; K2N20, 

(3) J2K2M2 ; K2N30, (4) JzLzM2; LzN30, 

A series with two blank spaces is given select correct alternative, in place of blank spaces, in 
order to continue the series. 

3lT /SPACE FOR ROUGH WORK 
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58. (i) - f m @ W , ~ , W , W , T m . r & ~ ~ . m ~ ~ , f i E T i ~ ~  

m * ~ a r a W l q , d .  Ttgwm*!@w~m. 

(iii) ~ m ; m r ~ ~ ~ ~ ~ h ~ ~ T $ . ~ ~ ~ ~ ~ 6 1 ~  

~ ~ & .  mamymil. ~ r n m ~ ~ ~ ; r ; ~  
m*. mmmvrhI4. rnata%mfmmtqmm. 

(i) Out of six boys, Raman, Aman, Baban, Chaman, Saman and Daman, everyone can 
play any one of the musical instruments violin, guitar and banjo. But one instrument 
can be played by two boys. 

(ii) The birthday of each boy is different in a week and is other than Sunday 

(iii) Aman is not born on Monday and cannot play guitar. One boy playing violin, is born 
on Friday. Baban can play Banjo. But he is born one day before Aman. Daman is born 
on Saturday and he cannot play Banjo or Guitar. 

(iv) Chaman cannot play that instrument which is played by Raman. Raman is born on 
Thursday, the second day after the birth day of Aman. Raman plays Guitar. 

Then which is the birthday of a person, other than Raman, who plays Guitar ? 

(1) Friday (2) Tuesday 

(3) Wednesday (4) Inadequate Information 

WZ4l d jrmr /SPACE FOR ROUGH WORK 



(a) KBT (b) BTF (c) BMD (d) BHT 

Eight employees 8, G, H, K, D, F, T and V are working in an organization, in three divisions 
viz. Engineering, Systems and Marketing, at different places viz Delhi, Mumbai, Kolkata, 
Ranchi, Patna, Bhopal, Nagpur and Hyderabad; not necessarily in the sequence. Minimum 
two and not more than three employees work in a division, out of three. 

G, works at Delhi in Engineering division. H works at Ranchi, but not in systems 
division. No one is working in Marketing division at Hyderabad. Only one another person 
of G's division, works at Kolkata. D is working at Hyderabad and F at Mumbai. V is not 
working at Kolkata and works in D's division. B and T both work in marketing division. 
One who is working in marketing division is not working at Bhopal. T is not working at 
Nagpur. 

Then, which one of the following groups of persons works in Marketing division. 

(a) KBT (b) BTF (c) BHD (d) BHT 

Answer options : 

W /SPACE FOR ROUGH WORK 
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60. W Rl%?F5 Th COMPUTER ?7 LNBVQSFU d f8f$& &. 3 TEm Y d 3  BULKHEAD Xd 

m *? 

(1) MVCILEBF (2) KTAILEBF (3) MTAGJEBF (4) KTAGJEBF 

In a code language COMPUTER is written as LNBVQSFU. How BULKHEAD will be written 
in that code language ? 

(1) MVCILEBF (2) KTAILEBF (3) MTAGJEBF (4) KTAGJEBF 

If A + B means, A is brother of B. 

Ax B means, A is husband of B. 

A t  B means, A is mother of B 

A - B means, A is sister of B. 

Then which of the following statements insist that T is son of P ? 

- - - - - . - . 
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(3) $WFll (i) (ii) &3? &lf%R &. 
(4) $WXI (i) a (ii) &f%&i T&. 

A statement and two presumptions from it are given below. Select an alternative about the 
presumption/presum~tions which is/are implied in the given statement. 
Statement : A nationalised bank had advertised in a national daily news paper that qualified 
candidates should apply for 100 posts of Chartered Accountants. 
Preassumptions : 

(i) The qualified Chartered Accountants will respond to this advertisement. 

(ii) The qualified Chartered Accountants willing to be appointed in a nationalised bank 
are adequate in number. 

Answer options : 

(1) Only presumption (i) is implied. 

(2) Only presumption (ii) is implied. 

(3) Presumption (i) and (ii) both are implied. 

(4) Presumptions (i) and (ii) both are not implied. 

Different colours are given to different faces of a cube. Red side is opposite to green. Blue 
side is between Red and Green. Yellow side is adjacent to Orange. The White side is adjacent 
to Yellow and the Green side is face down. 
Then which are the four colours adjacent to Yellow ? 
(1) White, Orange, Red, Green (2) Green, White, Blue, Orange 
(3) Blue, Orange, Red, Green (4) Red, White, Blue, Orange 
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A number arrangement machine rearranges the input of numbers in each step according to 
some rule; the example of which is given as follows : 
In put - 38, 28, 3, 7, 30, 5 
Step I - 3, 38, 28, 7, 30, 5 
Step 11 - 3, 28, 38, 7, 30, 5 
Step 111 - 3, 28, 5, 38, 7, 30 
Step IV - 3, 28, 5, 30, 38, 7 
Step V - 3, 28, 5.  30, 7, 38 
Step V is the last step of this input. 
If 11, 56, 45, 17, 20, 38 is the first step of some input then, 11, 45, 38, 20, 58, 17 will be which 
step ok that input ? 

(1) IV (2) III i3) v (4) 11 
. .. . - .. 

65. W @ ? ~ T K ) ~ ~ ~ W W % + I ~ & .  3 l h ? S f ; 9 i 4 ; T ! R h T ~ V h f T & .  Ff;9m;W&FJl 

(1) (a) (2) (b) (3) (c) (4) (dl 
A series of figures is given. Out of them, the figures having no numbers are correct. One of 
the figures having numbers is not useful to the series Find it : 
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66. ~ ~ f m a ~ 3 1 ~ ? ~ f & % ~ .  d ~ ~ * ~ ~ ' i T h f $ l ~  
f+m: 

r C C  
u r  

A 0 0  A  

D D  C 
e e  

(I) (2) p (3) (4) El 
D J  n 

A series of figures is given with a blank space, select the next suitable figure from given 
alternatives, which will continue the sequence ? 

A  
A D  
0 0  

C 

e e  r  
+ D O  

? 

r C  

A  

(1) I(7 (2 )  ( r  (3! 1 c r  (4) n .GI I 

1; :I ;I : :I 
- 

67. ~ i i h h d s T T f b T 3 F 3 F 7 W d 8 ~ ~ ~ & . d f a d ~ ~ , ~ T 6 h $ W l  
f%mm M a ( l a ( a q ~  * mi-4 f+m : 

m: 
(a) m&*&. 
(b) 4 M * *. 
(c) %braram-*. 
M: 
(i) 4 * * &. (ii) 4 * * *. 
(iii) +Td d. (iv) M + % i ? m M .  
(1) w f++id (ii) m. (2) i%d (i) m. 
(3) h d  (ii) 3Tlfnl (iv) h. (4) W (iii) m. 
Three statements and four inferences derived from them are given. Considering the statements 
true, select the correct alternative about the inferences, which is/are logically derived. 
Statements : 
(a) Some hopitals are gyms. 
(b) Some field is stadium. 
(c) No hospital is stadium. 
Inferences : 
(i) Some gyms are stadium (ii) Some gyms are not stadium 
(iii) Some field is hospital (iv) Some field is not hospital 
(1) Only (ii) is derived (2) Only (i) is derived 
(3) Only (ii) and (iv) are drived (4) Only (iii) is derived 

A  C 
e e  r  
* .  0 - 

.. 
m r  e e  
0 0  A  

? 
C C  
A. 
0 0  



A series of figures is given. Select a proper figure from the given alternatives in place of 
question mark, in order to complete the series : 
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(a) *-v (b) $+137~ - M 

Seven persons A, B, C, D, E, F and G are doing their professions in seven different cities viz. 
Chennai, Banglore, Hyderabad, Murnbai, Ahmedabad, Jaipur and Bhuvaneshwar, but not 
necessarily in the sequence. They are Doctor, Engineer, Pharmacist, Lawyer, Counsellor, 
Professor and Artist, but not necessarily in the sequence. 

A is Pharmacist and practises at Bhuvaneshwar. D, practises at Banglore, but he is neither 
Doctor nor Artist. The person, practising at Hyderabad, is a professor. G is a counsellor and 
does not practise at Mumbai or Chennai. E is a lawyer and practises at Ahmedabad. F 
practises at Chennai but is not an Artist. C practises at Mumbai. 

Then, which one of the following combinations of profession and place of practise is correct ? 

Answer options : 

(a) Pharmacist - Jaipur (b) Engineer - Chennai 

(c) Doctor - Banglore (d) Artist - Mumbai 

M d 3lT /SPACE FOR ROUGH WORK 
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A series of figures with a blank space shown by question mark is given. Select the correct 
alternative for the blank space. 

There are three circles, with four numbers outside them. In the first two circles, numbers 
have been filled according to a rule. But in the third circle a question mark (?) is given. Out 
of the given alternatives one number can occupy the place of (?) ; according to that rule. 
Find it : 

STQlTdl TIT /SPACE FOR ROUGH WORK 



(1) 7 : 6 : 10 (2) 12 : 15 : 16 (3) 42 : 45 : 36 (4) 42 : 50 : 48 
Aman started a business investing Rs. 70,000, Rakhi joined him after six months with an 
amount of Rs.1,05,000 and Sagar joined them with Rs.1.4 lakh after next six months. What 
should be the ratio of the amount of profit earned which should be distributed among Aman, 
Rakhi and Sagar after three years ? 
(1) 7 : 6 : 10 (2) 12 : 15 : 16 (3) 42 : 45 : 36 (4) 42 : 50 : 48 

73. &rn+Til*rn&. dh?vw*&. *wf$?mInyi%ml. 
3, 10, 29, 60, 127, 218, 345 
(1) 10 (2) 29 (3) 60 (4) 127 
A number series is given, with one wrong term. Select the wrong term from the given 
alternatives : 
3, 10, 29, 60, 127, 218, 345 
(I) lo  (2) 29 (3) 60 (4) 127 

[ 22 

(1) 44 
Which number will 

(2) 
replace 

35 
the 

(3) 
question mark (?) 
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Train A has a length of x meters and speed of u km/hour. Train B has a length y meters and 
speed of v km/hour. The two trains take t minutes to cross each other when they travel 
parallel in opposite directions, and 4t minutes to cross each other when they travel in the 
same direction. If u = 50km/hour. What is the value of zi ? 

There is a garden in your locality with jogging track. But it is occupied by people who keep 
smoking and drinking. Thus it is almost impossible for children to play there. You would : 

(1) stop taking your children there. 

(2) go to the police for necessary action, 

(3) request those people to vacate the place on behalf of all parents. 

(4) form a pressure group for taking action against them. 
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(1) Tel;a I d  w (a) ';J (b) d 1 3  f%WW m. 

(3) w3 11 Em? q (b), - WTk 11 3 ii m. 

(4) PW 11 d (a) a (c) M ~el;a m 11 Fit IWTXI WAR M. 
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There are two irrigation dam sites in the district having a robust potential to develop a minor 
irrigation project. The Government has asked you, being the head of the irrigation department 
to suggest an approprate site so that an equitable and inclusive growth objective is achieved. 

1 )incur less expenditure for the dam (available, construction will be 1 
Site I 

) construction. 1 expensive and may cost at least 75% 1 

Site I1 

more than the site. I 

(b) J M O S ~  of the benefitting population is of /(b) IMost of the population is of tribal, small 

a) Site has natural advantages, and would((a) l ~ h o u ~ h  the water source is adequately , 
( big entreprenuerical farmers, which land m a r p a l  farmers who have a I 

( because of rampant use of ground I /fertile and immense potential exists for 1 

will add to the agri production and 

depleted 

( (water by the rich farmers to grow cash ( lincreasing productivity once the water I 
( crops who are least interested in I lis made available, the farmers, due to ( 

(c) 

strong urge to get irrigation facilities to 
develop their economic condition. 
Though the benefitting land is 1110st 

Only one darn is possible as available plan financial resources are limited. Under the above 
circumstances if you have to give recommendation to the Government which of the following 
will be your most preferred option. 

(1) Recommend site I for reasons (a) and @) mentioned below it. 

(2) Not recommend site I for reason (c) mentioned below it. 

(3) Recommend site I1 for reason (b) mentioned below it. 

(4)  Not recommend site I1 for reasons (a) and (c) mentioned below it. 

Igrowing cereals and pulses. Infact this 

area is a net importer of food grains. 

jrmr /SPACE FOR ROUGH WORK 
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guidance may be unable to exploit the 
full potential. 



The Government prepared a list of Below Poverty Line (BPL) families. Such BPL families are 
provided 35 kg. of food grains per month at a subsidized rate of Rs. 2 per kg. A collector of 
a district realized that around 20% families in his district which are genuinely poor as per 
Government norms were left out of BPL list whereas a large number of families in the existing 
BPL list not truly BPL are taking disadvantage. The request by the Collector to the State 
Government to allow him to include genuine BPL families in the list is turned down, however, 
the Government has directed to delete the names of the families taking undue benefit from 
the list. Under above circumstances, which of the following recourse would you have adopted 
had you been in the Collector's seat ? 

(1) Take a massive campaign to delete names of the bogus BPL families from the list and 
recommend Government to allow to add at least equal numbers of genuine BPL families 
in place of the bogus ones removed from the list. 

(2) Organize a strategic campaign by leaking information to press and electronic media 
with a view to create positive pressure upon the Government to modify the policy in 
the interest of the genuine BPL families. 

(3) Reduce the entitlement of 35 per Kg. of food per family to 20 Kg. and divert 10 Kgs to 
the genuine BPL families not in the list. 

(4) Frankly telling the genuine BPL people that his hands are tied due to Government 
orders though he sincerely wants to help them. 
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One of the leaders in your area is planning agitation of unorganized labourers. Your rxperience 

tells you that during these kind of agitations people damage public and private properties 
and burn or cut trees that are grown by different agencies for many years for short sighted 
gains. As a citizen in your area what will you do to stop this type of destruction ? 

(1) Call a meeting of the people by distributing handbills to people in the locality and form 
an informal organization of people. Write a request letter to the Collector ot the area io 
make provision for avoiding the damage with the help of this organisation. 

(2) Request all educat~onal institutes to make students aware o! these destructive activities. 

(3) With permission, assist educational institutes in your area to involve !earners to take 
up projects related to these types of problems, problems of the agitators and organise 
activities that support demand of the agitators and for avoiding the damage. 

(4) Form a pressure group, using internet facility and discuss the prob!em ~ ~ i t h  the 
concerned leader as a group. 

- . - . ~~~~. ~ 

d 37TI /SPACE FOR ROUGH WORK 



The President of U.S.A. visited to inspect the last minute preparations for the launch of the 
first man to the moon at the site of Apollo mission. The President enquired with a sweeper 
busy in cleaning there "What are you doing"? The sweeper promptly replied " I  arn contributing 
to the mission to serld the first humarl being to the moon." 

Imagining yourself in the place of the President at that moment, how would you have rated 
Sweeper's reply ? 

(1) He is a person who values his profession howsoever inferior it may seem to the others. 

(2) He is taking pride in an epoch making mission his country is launching inspite of his 
insignificant status in the project. 

(3) He astutely brought to the notice of the President the "Dignity of Labour" 

(4) The man is trying to take unwarranted credit for a historic mission with which he is in 
no way concerned. 

- 0 0 0 -  
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(I) Fdt WFk U G d  (2) * - 
(3) rn Tlrlsjm rn (4) - - 
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